BDT> | N2 romptW +7€t5)  NBDoomp ) Npbry,  N°F(Other) | NpE, [ N°F(Data)
Am=10 GeV | 031 184+3.6 18+48 80+29 23+14 [303+67 39
Am =20 GeV | 0.39 9.0 +2.0 13+17 112432 31+19 |247+45 20
Am =30 GeV | 047 40+25 12+06  88+25 17+12 |157+37 22
Am =40 GeV | 048 41+13 18+07 76+23 12409 |148+28 16
Am =50 GeV | 0.45 73+21 47+28  71+£20 55£31 |245+48 36
Am =60 GeV | 0.50 2.0+ 0.6 24+£12  31+£11 114+09 | 87+18 12
Am=70 GeV | 0.46 49+16 34+11 54+16 32419 |168+29 20
Am =80 GeV | 0.44 71+16 510+09 53+16 52430 |228+33 26




